Prince of Songkla University
Faculty of Engineering

Mid-Term Examination: Semester || Academic Year: 2004
Date: December 22, 2004 Time: 09.00-12.00 hr.
Subject: 220-570 Transportation Planning and Land Use Room: R200
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1.. Identify at least four problems and at least four suggested solutions connected with each of the
following transportation systems in Hatyai metropolitan area:

Street network;

b. Transit system,

c. Travel information systems, and

d. Pedestrian facility system
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3. Afour-zone city has the following characteristics:

Zone | Total existing population | Holding capacity (Acres)
1 3000 300
2 2500 280
3 9000 500
4 4500 350

The travel times (in minutes) are as follows:

Fromi To j
1 2 3 4
1 5 10 12 20
2 10 4 9 20
3 12 9 3 14
4 15 20 14 6

An exponent of 2.2 can be used based on work done with other cities of the same size. If the city is
likely to grow by 15% overall in 15 years, what would be the likely population located in each zone in
the horizon year? What would be the percentage change in allocation of population to zones if the
exponent were 1.8 and 2.0 respectively?

4. A three-zone city having travel times (in minutes) as shown in the cells of the table is likely to add
1000 persons to its present population in the next 5 years.

(a) Itis hypothesized that the distribution of this additional population will be in proportion to a
zone's accessibility to employment. The additional employment in the next 5 years and its
distribution is also shown. Assuming b=2, use Hansen’s model to distribute the growth of

population.
Zone 1 2 3
1 1 3 8
2 3 1 6
3 8 6 1
Zone Future Employment
1 150
2 30
3 200

(b) Itis hypothesized that the additional population will be distributed on the basis of accessibility as
well as on the available vacant land of each zone. What will be the zonal distribution?

Zone Vacant Land (Rais)
1 51
2 21
3 42

(c) If, in addition to conditions described in parts (a) and (b), it is hypothesized that the
attractiveness of an individual zone plays a part in the location of the additional population, as
per figures shown, how-will the additional population be distributed?

Zone Attractiveness
1 3
2 2
3 1

Examination set by Dr. Chakkrit Kanok-kantapong



